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I} Cruesten Mo, 1is compulsory.

1) Answer any } questions fom . No. I w {. Ho. 6.

1) Give working notes wherever necessary.
4) All guestons carry equal marks.

UCODTR

[Max. Marks:50]

31 An enpinesrting company is having three production departments - "A’, 'B' and 'C" apd twe 20
seryice depariments - 7 and Y. The following parculars have been exiracied for the

year ended 3]st March, 2018,
Particalars Produchon Depariments Service Depariments
ﬂA? T: icl EI? I.'E':
Diirect Wages (Bs.) 30,000 45,000 50,000 15000 30,000
Diirect Matergal (Fs.) 15000 30,000 30,000 22500 21,300
Siaff (pumbers) 1,500 3,250 1250 150 750
Electricity (kwh. ) G.000 4,500 3.000 1.500 1,300
Aszet Value (Bs) G0.000 20,000 30,000 10,000 10,000
Light points (pumbers) 10 15 4 i 4
Area (sqmt) 150 250 50 50 50
The expepses for the perod are as under:
E=.
Paowrer 1,104
Lighring 200
Srores Onverhead E00
‘Wealfare of Staff 3,000
Diepreciation 30,000
Fepairs 3,000
General Crverheads 12,000
Fent and Taxes 550
You are required to prepare

[l A primary distnbuton summary showing the disimbuaton of overbeads to varions
depariments

i A stumlem showing re-apportionment of service depariments' expenses fo
producton departments. Apportson the expenses of Service department Y™ in the
ratio of 2-3-4 and those of sarvice department X' in the atso of 5:3:1 to production

depariments "4’ B'and 'C’ respectively.
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Q2 From the following particulars you are required to caloulate the earnings of a worker for 70
a week undsr
1) Siraight Piece Rate System
if) Taylor's Differential Piece Fate System

if) Halsey Plan

) Fowan Plan

Weskly working hours 48 hoars

Fate Per Hour Bs7.50

Pizce Fate Per Unit BEs3

Wormal tims taken per piece 2} mimnmes

Iormal eutpat per week 120 pieces

Aomaal ot for the wesk 150 pieces

Diifferential pisce rates 20%; of piece rate when output below
narmal production and 120%: of piece rate
when ouiput above the normal production.

03 A A wmachine i purchased for cash for Bs. 10,400, Its working [ife is estimated tobe 12
565,000 hours afier which its scrap value is estimated at Bs 400, It is assumed from
past experience that-

i}  The machine will work for 3600 hours anmaalty.

i) The repair charges will be Bz 1,160 during the whole period of 1ife of the
macking.

i} The power conmumpiion will be 10 units per boor at Bs 0,12 per amit.

iw)}  The other anmmal standing charges are estimated to be as follows:

E=.

a) Fent of department {machins ecoupies 105" af total space) 1,550
b} Light (12 points in the deparmment, out of which 2 points are 574

engaged on the machine)
) Foreman's salary (144 of his time is ecoopied n the mackine) 12,000
d) Imsorance Premdum (five)) for the mackinery. T2
g) Cofton Waste. 120

Vo are required to calouwlate the Machine Hour Bate,
B. The following is the budest of Ange] Engineering Warks for the year 2018, g

Factary overheads Fs. 62,000

Direct Labour cost Ei=. 98,000

Direct Labour Hours 1.55,000 huours

From the abowe fpures calculate
i) Crerhead absarpton mtes using Direct Labour Boor Method and Drizect
Labour Caost Method.

ii) Prepare a comparative statement of cost showing the result of application

5
']
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of each of the above mates to job po. 655 ffom the under mentioned data:

Direct Material cost Bsd45
Direct Labemr cost Bs 50
Diirect Laboar hours 40 hours

Q4 a) What is Laboor Tornover? Emmserate the causes and indicate soms measures to 10
reduce labour tomover.

b} A company closes ifs books ewvery half year ended 30th June, 23018. The following 10
partoalars were obtained from the books of the company.

Amount (B}
Basic Wages 0,000
House Feot Allowancs 13,500
Crvertime Allowance 12,400
Mieght Shift Allowance 10,600
Provident Fund depesited for the period 21,200
Employess' State Insurance Coniribution for the period 5,000
Becovery towards House Flemnt 18,500
Fecovery towards supply of provisions. 24200

The following addidonal information is provided.

i) Deamess Allowance - 10% of basic wages.

i} Provident Fund iz paid for by the employer and the smpleyes in equal shars,

i)  The ratio of contribution by emplover and employes to Employees State Msurance
is 321

Dietermine the net amount of wages paid in cash to employees over the period of s

moaths.

Q5 a) What is time rate system? Explain its advantages and limitations. 10
b} Define overbeads. Discouss the classification of owerheads costs. 10
Q6 Write short notes on the following (asy four): 20

a) Methods of time keeping

b} Mommual idle time and Aboormal Tdls tme:

¢} Distnpaish betwesn cost allocation and cost apportionment
d) Advantages of departmentalisation of overhead expenses.
€) Acroal overhead rate w's Pre-determined overhead rate.



